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Question Number : 1 Question Id : 544734481 Display Question Number : Yes Is Question
Mandatory : No

Let f(x) = (x+2)°—2,x=—2. Then f 1(x) =
FO)=x+27—-2x= -2 08 f (x) Jewd
Options :

2 +x-2

1. #

, & V2+x+2

3 @ vZ2+x—2

sw VZTEH2

Question Number : 2 Question Id : 544734482 Display Question Number : Yes Is Question
Mandatory : No
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If *f" is the greatest integers function defined on R as f(x) = [x] and ‘g’ is the modulus
function defined on R as g(x) = |x|. then the value of (gof) (_?5) 18
R 18 pd o DA f(x) = [x] L 8ok ‘g7 O 27D DWAIE).
86830 R D g(x) = |2] ™ 362, (gof) (3) Dews

Options:

1x 1

Question Number : 3 Question Id : 544734483 Display Question Number : Yes Is Question
Mandatory : No

If f:R - Rand g: R — R are two functions defined by f(x) =ax+ b (a# 0) Vx €R and
glx) = ex’+d(c#0)VxER. then (fag:)_l{:x') =

f:R = R 280 g:R = R odvaro f(x) =ax+b(a #0)Vx ER, glx) =ex’ +
d(c#0)VxER™ DY @i (fog) " (x) =

Options :

(x—ad+b)
1.$ ﬂ.!':

(x+a.d—b)
2.% ac

1
2

1
3
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Wl e

(x—ad—b)
3.+ ac

(.x'+ad.+b)
% ac

1
3

4.

Question Number : 4 Question Id : 544734484 Display Question Number : Yes Is Question
Mandatory : No

: L : . ; 2
Using mathematical induction, the numbers a,'s are defined by a, = 1,a,,, =3n" +n +

a,(n20).thena, =

@y P00 4y = 1,0, = 30" +n+a, (n 2 0) m DD, iederioriadnd derodo
DF6 0, £ PATIIG.

Options:

- P +nt+1
r13—112+1

n —n

3 2
g4 % N

Question Number : 5 Question Id : 544734485 Display Question Number : Yes Is Question
Mandatory : No
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dq bl Cq dy bI ]
IfkERanddetA= [a; by cy|=kthendetB=|a;+2a; by+2b; ¢34+ 2¢|is
dj b3 C3 dg ]]3 (3
equal to
a; by o ay by 0y
detA: 32 bz ('.2 :l{@m@.detBZ 32‘|‘231 bz‘i‘Zbl CE‘I'ZC]_ SJ(JE{ER}
a; by o5 a; bs Cs
RATH00G
Options :
1.% 0
2. ® ZK
3.v K
4, % K°

Question Number : 6 Question Id : 544734486 Display Question Number : Yes Is Question
Mandatory : No

[ V2020 2021 2021 +/2023
V4040 4042 4044 +/4046
V6060 6063 V6066 6069
V8080 +/8084 +/8088 8092

IfA = then the rank of 4 is

A 370E 58
Options :

1.v 1
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Question Number : 7 Question Id : 544734487 Display Question Number : Yes Is Question
Mandatory : No

x x2 148
If|ly v 1+ y?®|=0andx, v,z are all distinct. then xyz =
z z? 14323

x. # 1447
y y2 143 =0208000 x,y, 2z e D7) 0owd. xyz =
w2 22 1427

Options :

1.¢ 1

Question Number : 8 Question Id : 544734488 Display Question Number : Yes Is Question
Mandatory : No

Let A be a n X n matrix such that 4 is upper-triangular. Then adj(4) =
A2s nxXn ards. A w8 b Bz Hrds wond. adj(4) =

Options:
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lower triangular matrix
&lod Gz HTaS

upper triangular matrix

, o 0D SR A0S

diagonal matrix

DEG JraHE
3. % £3

scalar matrix

4 % QT TGS

Question Number : 9 Question Id : 544734489 Display Question Number : Yes Is Question
Mandatory : No

LetZ,,Z, , Z5 be three non zero complex numbers such that a = |Z,],b = |Z,| ,c = |Z5] . if

a b ¢
the determmant |h ¢ a|=0.then
c a b

2,25, 75 00 Q0P waﬁac& R}oég RofeD a = [l b= L es1z) @ojaéegg’n

a b ¢
b ¢ a 33%&‘»&5.13 “'nwégl oS

c a b
Options :
1. % |Z¢| = 12| = |Z;3] = abe
5 @ |Z3| + 1Z2] + 125 = 0

3 % |Z1] + 122] + |Z3]| = abe
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|Zl _Zzl = |Zz _Z3|

Question Number : 10 Question Id : 544734490 Display Question Number : Yes Is Question
Mandatory : No

2 2 2
If |zl * ZEI = IZ1| + Izz| . where z, and z, are two complex numbers. then

2 2 2
Zy 23 ‘F\:oég ‘.-’aoaalsuﬁb |z'I -I—zzl =5 |zl| + !le 900

Options:
Z7
— 1s purely real
Zz
Z1
— UG TV R}c&:-é
. B 2 -
1. %
Z1 ; ;
— 1s purely imaginary
Z2
]
— 306 S0\3 Do
£ =
2.9
z T
arg (—1) =
3. % %2/ 4
z
&
4.% 172

Question Number : 11 Question Id : 544734491 Display Question Number : Yes Is Question

Mandatory : No
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g . [3-4ix ; 43
A real value of x will satisfy the equation (3 o ) =a —ip (a,f arereal).1f
Lx

5

) = 0~ iB (2, f 00 TR o ) 0 VDT X ED TR Ko $,9063

(3 —4ix
3 +4ix

Options :

Question Number : 12 Question Id : 544734492 Display Question Number : Yes Is Question
Mandatory : No

_ .9

What 1s the value of ( 1—iv3 ) =
o

(1—-iV3) awg) dewd

Options :

1% 2
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Question Number : 13 Question Id : 544734493 Display Question Number : Yes Is Question
Mandatory : No

o 2020
(u’ﬁ—ﬁ+ V6 + /2 f)
4 4
Options :
1 1.-"‘5
— + TE
1 % 2 2
—1 \.-"'E
— i
2 % 2 2
-1 \,"E
i
3 ® 2 2
i W5
——i—y
4 2 2

Question Number : 14 Question Id : 544734494 Display Question Number : Yes Is Question

Mandatory : No
(10 —x)=3x*4+4x—5and f(x) =px* +qx +rthenp+qg+r=

FA0—x) =3x"4+4x -5, f(x) =px* +gx+rewandp+qg+r=

Options :
1. % 272

, o 274
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3 % 275

4 % 273

Question Number : 15 Question Id : 544734495 Display Question Number : Yes Is Question
Mandatory : No

For a # b. if the equation ¥’ +ax+b=0and x* 4 bx + a = 0 have a common root, then

the valueofa + b =

a # b wand. x* +ax +b =0 SBosw r’ + bx + a = 0 HAECETOD edoyd
0008, a + b cig) Qe

Options :

1.¢ 1

Question Number : 16 Question Id : 544734496 Display Question Number : Yes Is Question
Mandatory : No

If the product of the roots of 9x* 4 112x* — 120x + a = 0 is 12. then the value of ‘a is
0x® + 112 = 120x + a = 0 56 Jurerw veé);‘m 12 eond, ‘a’ aws), 2002 dodh?
Options :

1.0 —12
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2. % 12
. —108

4 % 108

Question Number : 17 Question Id : 544734497 Display Question Number : Yes Is Question
Mandatory : No

2 + /5, 1 are roots of the cubic equation given by
&1 808 0D PESCETIS 2 + /5, 1 a0 Areren 9)TTow

Options :
| %X 3% —Bx—1=0

, % ¥ 32 43 —-1=0

3 ¥ ¥? —B5x2 1 3x41=0

4. % X} +5x2—-3x4+1=0

Question Number : 18 Question Id : 544734498 Display Question Number : Yes Is Question
Mandatory : No

A set contains 11 elements. The number of subsets of the set which contain at most 5 elements 1s

2,€ HAS’ 11 Areganen essl:). 25 15 &GS BT 5 Aresine AN
.;):)l EDREL GotTon?
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Options :

" 126{}"’ 1262 x 12(:-4

1. %

- 1261 £t 1263 ES 1265

. 1ICI}+ 11(-:1 ¥ 1'1{:-2 T 11(:-4

Question Number : 19 Question Id : 544734499 Display Question Number : Yes Is Question

Mandatory : No

2xt—a3+3x%—x+4 | A B

If 5 =] & then
X —3x4+2 x—1 x—2

4 3 2

2% —x"+3x¥ —x¥+4 A B
=% 9000/
x%—3x+2 f( } + x—1 + x—2 -

Options :

- f(x) =2x*+5x+14. A+B =39
, % &) =2x"—5x+14,A+B=31
L ) =2x"+5x+14.4+B =31

4y x fQ)= 2x> 4+ 5x+14. A=4B =35
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Question Number : 20 Question Id : 544734500 Display Question Number : Yes Is Question
Mandatory : No

Let 6 be an angle in the standard position such that the point (-5, 12) lies on its terminal side.
then

TArAE GPHOAY’ Gol B £02Y) 0 @083 02003 (—5,12) Doty ot w:;):,c:a
Options :

| % |sinf| = —sin @

|cos 8| = cos @

2. %
3 ¥ |tanf| = —tan @
4 % |cosec 8] = — cosec#

Question Number : 21 Question Id : 544734501 Display Question Number : Yes Is Question
Mandatory : No

T T T Fia T
If cos— cos— cos— cos— = 2™ cosec?‘rhen m+n=

4 8 16 32

T T m T e V[
COS— COS— CO0S—— Ccos— = 2" cosec— @0 m +n =
4 8 16 32 1 +

Options:
1. % 27
5 % 23

3 v 28

4 % 29
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Question Number : 22 Question Id : 544734502 Display Question Number : Yes Is Question

Mandatory : No

3
IfA+B+C :?E.IEIEHCGSZA+CDSZB+CGSZC=

3
A+B+C =?ﬂﬁ=~mj@ cos 24 + cos 2B + cos 2C dend

Options :

1« 1—4sinAsinBsinC

5 % 1+ 4sindsinBsinC

3 % 1—2sinAsinBsinC

4 % 1+ 2sinAsinBsinC

Question Number : 23 Question Id : 544734503 Display Question Number : Yes Is Question
Mandatory : No

Tan™1(—2) — Tan"!( 3 ) is equal to
Tan™?(—2) — Tan™1( 3 ) 2 RT3 Jewd
Options:

37T

1.% 4
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s
3.% 6

-3
4.v %

Question Number : 24 Question Id : 544734504 Display Question Number : Yes Is Question

Mandatory : No
sinh(x + v) cosh(x — v) is equal to
sinh(x + y) cosh(x — ¥) 2 PITIDIE
Options :
1
P (sinh 2x + sinh 2y)

1.+

5 % (sinh2x + sinh 2y)

1
= (sinh 2x — sinh 2y)

4 % (sinh 2x — sinh 2vy)

Question Number : 25 Question Id : 544734505 Display Question Number : Yes Is Question
Mandatory : No

What is the value of (@ — b)® cos? % + (a + b)* sin? % =
(a — b)? -::052% + (a+ b)? SiﬂE% DN DIATHDIE

Options:
AP EAPCET 2021
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Question Number : 26 Question Id : 544734506 Display Question Number : Yes Is Question
Mandatory : No

In AABC. suppose the radius of the circle opposite to an angle A is denoted by ry. similarly

r, o angle B.1; o angle €. If ry = 2,1, = 3,13 = 6. then what is (a, b, ¢) =

Sz0a30 ABC &° Eno A £ DT Gol Iy méavgm: ry 08 et 1, < S B. 13 &
8o C.1y = 2,1, =3,13= 6 0and (a, b, ¢)  AFHHE

Options :
1w (3,4 5)

5 % (5,4 3)

Question Number : 27 Question Id : 544734507 Display Question Number : Yes Is Question
Mandatory : No
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Ifin AABC.atanA+ btanB = (a+b). tqn( Z ) then which of the following holds?

HZ0230 ABC & atanA+btanB = (a+b). tan( ) oo & Sod T705° O
Q2008

Options :
1.vA=E

Question Number : 28 Question Id : 544734508 Display Question Number : Yes Is Question
Mandatory : No

Fa=i+j+kb=1-]+2kamd T=xi+(x—2)j - kandif the vector ¢’ lies
in the plane of vectors @ and b and then ‘x’ equals

—

T=1+]+kb=T-]+2k dotewed) dosws T=x] +(x-2)] - k 004
Gold x =
Options :

1.330
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4.v —2

Question Number : 29 Question Id : 544734509 Display Question Number : Yes Is Question
Mandatory : No

Letu = 2i + j and v = 3i — 5]. Consider three points P, ) and R having the position vectors
5

7 9 ) o : .
(;) i =2 (?) i— jand (I) i respectively. Among these. the points in the line passing

through u and v are
5
w=2i+j baiw v=3i-5j. P,Q,R & Do g‘é % SR (?) <@ F

7 9
(?) i—j SoBosw (E) o0, u B0 v © Mot T'ah a3 2 Do Sobrow.

Options :

Only P and Q
1 P s0bain ¢ Pl Fob)

Only P and R

, . P 20Bowo R 278

Oaly Q and R

3 % Q S0Baiw R &g

AllP,Q and R
_ P,Q 20Bodw R
4. %

Question Number : 30 Question Id : 544734510 Display Question Number : Yes Is Question
Mandatory : No
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The point of intersection of the lines joining points i +2 j.2 1 — j and—1i, 2 1 is

T427.270— ] 20050 —1, 21 Dotdnwid £99 G od Dot

Options :

5 =
——
1.¢ 3

N
#
Ul

Question Number : 31 Question Id : 544734511 Display Question Number : Yes Is Question
Mandatory : No
= 2 PR
(@xb) +(@a-b) .
——— 18

2@°(D)

The value of

@xb)+@ b)° _

@2

Options :
0

1. %
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Nl'““

-If-“~||-'~

Question Number : 32 Question Id : 544734512 Display Question Number : Yes Is Question
Mandatory : No

—_— =

a=1i- f, b=j- kand@ =k —i.1fd isaunitvector such@-b = 0=
[F?a’ | then d is
T=i—j,b=]—kBoswe=k—i 030 d chrdS088aT b =0=
[FFE]@O?%&F €0t wf.;JDmF:
Options :

165 -
g Bhi=k

I+

Question Number : 33 Question Id : 544734513 Display Question Number : Yes Is Question
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Mandatory : No
Let u and v be two nonzero vectors in R with the intermediate angle 45°. Then | u X v | =
R® & u 0805w v D Bot BrR[E0 DAL Bodl 45° §racdw eond, | u X v | dewdd
DIFIHB
Options :
1w lullv]

5 % 2 |ul |v]

3. v ¥ R

4w lul+1v]

Question Number : 34 Question Id : 544734514 Display Question Number : Yes Is Question
Mandatory : No

The equation of the plane passing through 3i + 2j + 6k and parallel to the vectors 2i + j + k
andi—j+kis

3i+ 2] + 6k Docodyv oot T 2i 4/ + k 2080k i — ] + k 05 DAFBEAT ol
B0A0 HAVEGERAD DA

Options :

_— x+y+z=11

> Zi—y—3 = —1%

3 8 2x—y+z=10
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4 % x—2y+3z=17

Question Number : 35 Question Id : 544734515 Display Question Number : Yes Is Question
Mandatory : No

Given @ =31 -, b=27+ §= 3kand b = b—l + Eix?lael'eb—l is parallel to @ and b_;

' ' [ i N
is perpendicular to a” then b, 1s equal to

el

T=31-7,b=21+]7 —3% 0o na%0s b = b, + Ew®5wﬁé

DBToBEI0T by 6% T & Lowd b, 6% ol b, =

Options :
1_...._+3_? 5%
—i+—7 -3k
1.v 2 2
i .. 3 . 5
Ti.—Tj—FSﬁ(
2.% © -
1 < - "
Ti-i-_j+3k
3. % ©

Question Number : 36 Question Id : 544734516 Display Question Number : Yes Is Question
Mandatory : No
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If the mean of a data ¥ is 10 and if all the observations are multiplied by 2. then the mean of

new data 1s
w8 Bgrod 20600 T 036 10 eHdvod. dgres HdFudw w88 T2 E
AedodT ;5!3‘) E & dTro? mtﬁém e

Options :

, 8

3.% 50

4.v 20

Question Number : 37 Question Id : 544734517 Display Question Number : Yes Is Question
Mandatory : No

A coin 1s tossed until a head appears or it has been tossed thrice. Given that head doesn’t

appear on the first toss, the probability that coin tossed thrice 1s

6°30) SRE 68 GE QP HT(ADVRD Y V(DG 28 TENO ADEIITE.
2068 S &) SHWEIYE, PO T THEI DS RogT(d dod?

Options :
2

1.¢ 3

1
2. % 3

| w
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-If-“~|+-'~

Question Number : 38 Question Id : 544734518 Display Question Number : Yes Is Question
Mandatory : No

Box-I contains 3 cards bearing numbers 1,2, 3; Box IT contains 5 cards bearing numbers
1,2,3,4,5 and Box III contains 7 cards bearing numbers 1,2,3,4,5,6,7. One card 15 drawn at
random from each of the boxes. If x; be the mumber on the card drawn from the i*" box. i =

1,2, 3. then the probability that x; + x, + x5 13 odd is equal to

2068 bge.‘i‘ 1,2,3 Rojeri 57w Botad :3@6‘5 1,2,3,4,5 opjenrv s°0e0, 76
D09 1,2,3,4,5,6,7 oL SER &) D. i 3 20 Aot B TG 1; T B0
X+ 25+ x3 80 o8 e N R0EPI(S Jod?

Options :
23

1. % 105

53
5 » 105

43
3 % 105

33
4 % 105

Question Number : 39 Question Id : 544734519 Display Question Number : Yes Is Question
Mandatory : No
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X
The range of a random variable X is {1,2,3 ... ..}and P(X = x) = - forx =

1,2,3, ...... Then the value of C 1

X

#
us Oirtﬁﬁaﬁ doog X 03.‘1.75& :.7“533 {1.23.... JB P X =% 22— =125 s
= x!
ona 03.1053j c‘,ﬁmfsés Q0 dod?

Options:

1.% 0

2. %

In (2) ( where In — denotes the natural log )
3 ¢ In (2) ( In — e2sdrr DI log )

In (3) ( where [n — denotes the natural log )
4 % In (3) ( In — e 2 log)

Question Number : 40 Question Id : 544734520 Display Question Number : Yes Is Question
Mandatory : No

Tom and Jerry play a game of alternately throwing an unfair coin. First one to get head wins. If
Tom starts the game, he has 62.5% chance of winning the game. Suppose this com is tossed 5

times. then the probability of getting exactly 3 heads 1s

S0 08080 B 28 FEE THI) 2B ST 25D IO PAFAANG” AT
2508 &) 268 T ADDM AT Ery Bt AGNES S el Rogr(S

62.5% Ry ) 5 FE BN 3 T &) T7EmIS oIS

Options :
144

| 625
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121
3 % 625

100
4 % 625

Question Number : 41 Question Id : 544734521 Display Question Number : Yes Is Question
Mandatory : No

A point moves so that the Sum of its distances from (ae, 0) and (—ae, 0) 1s 2a. then the

equaton to its locus where b? = a®(1 —e?) is

(ae,0) 0Bosw (—ae, 0) Dot Mok 2,8 DotdY) (v GEroew ASHAW 2a esoi359.3°

Do) SCond o). o Dot DoadEGAn s bt =a’(1-ed)rr
’ﬁ'a‘)r'\.i"ii}.
Options :
2 2

L1
1. w 4 b

xz 2

—+—==1

3 S bz ﬂ.z
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Question Number : 42 Question Id : 544734522 Display Question Number : Yes Is Question
Mandatory : No

The point to which the origin should be shifted in order to eliminate the x and y terms from the
equation 9x* +4y* +10x + 12y +1=0s

9% +4y% + 10x + 12y + 1 = 0 20600 ol ¥ O ¥ DR 6502 BabL
S0reDod)d HATod6 BEHBIGH T O Do) SEL SrE\STH?

Options :

(5 3)
1 % \9 "2
(_5 _3)
> % 8209
(_5 _3)
3w N9 2
(_3 _5)
4.% N2 9

Question Number : 43 Question Id : 544734523 Display Question Number : Yes Is Question
Mandatory : No

If A(1,3) and C(7,5) are two opposite vertices of a square, then find the equation of a side
passing through A.

A(1,3) 208t (7, 5) e 2 theodan cog), ot S10¢ Iren wand. 4 ot
T w8 Fow AT B,

Options :

1.% X=Y
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2~ 1 =40

Question Number : 44 Question Id : 544734524 Display Question Number : Yes Is Question
Mandatory : No

‘C" is the centroid of the triangle with vertices (3,—1). (1,3) and (2,4). Let *P" be the point

of intersection of the lines x + 3y — 1 =0and 3x — y + 1 = 0. Then a line which passes

through both points € and P would also passes through the point

(3,-1).(1,3) &botw (2,4) 8 d6yE Qe Sodernaw ‘¢ x +3y-1=0
So8atw 3x — y+ 1 = 0 8200 0t Dotdy) ‘P’. o0, ‘€ 208030 ‘P’ Hotdv) Hror
Tadb w8 A0YEDD &ol Do) .

Options :

1. %
(~9,-6)
L« (7,6)
RCR)

Question Number : 45 Question Id : 544734525 Display Question Number : Yes Is Question
Mandatory : No
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The distance of the point (1,2) from the line x 4+ y 4 5 = 0 measured along the line parallel

to 3x — y = 7 1s equal fo

30—y = 7 B0 PDAFoIGINT &ol 80 DT (1,2) Do) &0d v+ +5=0%
(0 APdAw

Options:
1% W10

2 = 40
3.v V40

4. i 2'\,%

Question Number : 46 Question Id : 544734526 Display Question Number : Yes Is Question
Mandatory : No

Find the equation of a line which passes through (2 cos’ (), 2 Sillg(ﬁ)) and 1s perpendicular
to the line x cos(#) — y sin(f) = 2 cos(26).

xcos(f) — ysin(f) = 2 cos(26) 260D Lotiom obir. (2 cos*(8) 2 sing(ﬁ)) Dot
ot el H6v8D HALEHAD

Options :
Lo X sec(8) + v cosec(f) = 2
, % X cosec(6) + vsec(f) =2

3% X sin(#) + yvcos(8) =2
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4 % Xxcos(f)+ ysin(@) =2

Question Number : 47 Question Id : 544734527 Display Question Number : Yes Is Question
Mandatory : No

The value of p for which the equation x% + pxy + v2 — 5x — 7y + 6 = 0 represents a pair of
p q pXy T | , I p

straight lines 15

P pay +y7 =5 =Ty + 6= 0 2o a8 Saratomyd) Ardd p Deod

Options:

Question Number : 48 Question Id : 544734528 Display Question Number : Yes Is Question
Mandatory : No

If ane of the lines represented by ax?® + 2hxy + by? = 0 passes through (2 ,3) and the other
passes through (4 ,5). then a + 2h + b equals

ax? 4+ 2hxy + by =0 PO¥Garabr) 520 Aot B’ 28 p0¥0 (2,3) Dodosd)
ot T, 200050 208E 26v8a (4,5) Doty Mo IS, a + 2h + b Jend

Options :

1.“*’30
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Question Number : 49 Question Id : 544734529 Display Question Number : Yes Is Question
Mandatory : No

The equation of the pair of straight lines parallel to x-axis and touching the circle x% + y* —
6x—4y—-12=101s

X2 4y% = 6x — 4y — 12 = 0 TR) DR X058 BIToSERT ol B
HOEGEB0

Options :

¢ Y=y =21 =0

, % Y2 +4y—21=0

3 % yi—4y+21=0

n yi44y+21=0

Question Number : 50 Question Id : 544734530 Display Question Number : Yes Is Question
Mandatory : No
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If the lines represented by the equation 2x® — pxy + 2y = 0 are real. then the value of ‘p’

lies m the mnterval

20° —pry + 2y = 0 2086w Ardod G TR Gpen edbinm P’ L vowd
QUVAY odGAn

Options:

5 v (—0,—4) U (4,0)

4. ® (_4=4]

Question Number : 51 Question Id : 544734531 Display Question Number : Yes Is Question
Mandatory : No

The points where the circle x? + y* — 3x — 4y + 2 = 0 cuts the x-axis are

X% 4% =3 — 4y +2 = 0 380 o) DotYw I PotiAved
Options :
) % (2,0) & (3,0)

S % (0,2) & (0,1)
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Question Number : 52 Question Id : 544734532 Display Question Number : Yes Is Question
Mandatory : No

The center and radius of the circle x% + y? + 8x + 10y — 8 = 0 respectively are and
units

24y 4 8x + 10y — 8 = 0 ardodd HyT°R8 Sogidn Sudotn ::’53“3“&.0 SGRT
SoBokw QDD

Options :

Lo (—4.5),7

Question Number : 53 Question Id : 544734533 Display Question Number : Yes Is Question
Mandatory : No

The poles of the tangents to the circle x% + y? = 4 with respect to the circle (x + 2)2 + y? =

8. lie on

(r+2)" + 7% =8 3,080 Gy ¥ + v = 4 5,808 (0 20)0,500 €T Docidesdn

Options :

12 Br—
1@ +8x =0
5 % x*+8y =0
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38 —8x=

4 % X2 —8y=

Question Number : 54 Question Id : 544734534 Display Question Number : Yes Is Question
Mandatory : No

If the power of the point (1,6) with respect to the circle x* + y* + 4x — 6y —a = 0is ‘- 16’
then ‘a’ equals

w4yt +dx -6y —a =0 3330 cﬁag“é (1,6) oo c0g) Dotk ‘16 eond,
‘0" Qend

Options :

5
1. % 2

, w4

Question Number : 55 Question Id : 544734535 Display Question Number : Yes Is Question
Mandatory : No

The equation of radical axis of the circles % + y? + 4x+ 6y +7 = 0 and 4x% + 4y* + 8x +
12y-9=01s

? 4y A+ 6y+7 =0 0Baso 417 + 4y% + 8x + 12y - 9 = 0 HT0 Aarergaw
2R0S6HIN
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Options :

1% Xxty+1=0

> % 8x+12y =10
3¢ 8x+12y+37=0

L 2X+3y+7=0

Question Number : 56 Question Id : 544734536 Display Question Number : Yes Is Question
Mandatory : No

The radical axis of the circles Sy:x? + v? —4x + 6y — 10 = 0 and Sp: x? + v2 + 2x — 6y +

2 = 0 cut the circle §;

Si:x2 + ¥y —4x + 6y — 10 = 0 20800 Sy: 12 +y2 + 20— 6y +2 = 0 Sygw
S0rergsn §; HEed 36 DoCoth.

Options:
two real and distinct points

Got DD T°RD DotHw
1.4

one real point

5 % 2,8 T°0D Do)

1maginary points

3 % 977D DotPHV

can’'t be determined

bgloplale Al 3 Pebb)
4. % @
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Question Number : 57 Question Id : 544734537 Display Question Number : Yes Is Question
Mandatory : No

The point of intersection of the lafus rectum and axis of the parabola y? + 4x + 2y — 8 = 0 is
y? + 4+ 2y — 8 = 0 Hor00550 08), THvoto SB0L BES0L Dot Dot

Options :

Question Number : 58 Question Id : 544734538 Display Question Number : Yes Is Question
Mandatory : No

If the focal chord of the hyperbola subtends a right angle at the center. then its eccentricity 1

28 OADT VALY T8 & or) Sogio 96 Vot ﬁw:&l 3)1536?_9‘ & AVT IV TE),
63) 088

Options:
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*ff_:r—l
E‘:
2, ® 5
\,"lg'l"l
2 =
3. ¢ 2
J3+1
&=
2

Question Number : 59 Question Id : 544734539 Display Question Number : Yes Is Question
Mandatory : No

The direction cosines of the line joining the points (—2,4,—5) and (1,2, 3) are

(~2,4,-5) &dafv (1,2, 3) Docoposn $85 o g, &5 §pdven

Options :
3 = 3
(==-=)
1. ¢ ANIT NTT NTR
3 2 3
{ )

> % N77 NT77 V77

L« (1,0,0)

-3 -2 3}
4. % 7777777

Question Number : 60 Question Id : 544734540 Display Question Number : Yes Is Question
Mandatory : No
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The points (2,3 ,4). (—1,—2,1) and (5,8,7) are
(2,3,4). (—1,-2,1) 208050 (5,8,7) Dotdaen

Options :
collinear
| o PODoITe

vertices of a right-angled triangle

2,8 woSn QL) JTen
2. % -

vertices of an equilateral triangle

208 RIVEPTV SFORY T
3. %

vertices of an isosceles triangle

208 RILAETITV SFORY T
4, % i

Question Number : 61 Question Id : 544734541 Display Question Number : Yes Is Question
Mandatory : No

The sum of intercepts of the plane 4x + 3y + 2z = 2 on the coordinate axes 1s

4x + 3y + 2z = 2 B0 JErOSTOS 5010 BoBEPoTe ANGAN

Options :
13

1.v ©
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Question Number : 62 Question Id : 544734542 Display Question Number : Yes Is Question
Mandatory : No

11x* —3x+4) a
If lim = — then the value of a + b equals
x=0\13x3 —5x2 -7 b

11 =344 a
lim = — 0B a + b dend
x—0\13x3 —5x2 -7 b

Options :

1 % 11

5 % 13

a.v %

Question Number : 63 Question Id : 544734543 Display Question Number : Yes Is Question

Mandatory : No

lim — : = _____YmEN
x=1 {(1—2)(1—x2)weome (1—xm))2

Options :

Zn
1. % i
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ZﬂC

3. ® (2n)!

(2n)!

Question Number : 64 Question Id : 544734544 Display Question Number : Yes Is Question
Mandatory : No

lnge(l + x?(tan x)

ff(x)=———= . X # 0 1s to be continuous at x = 0. then £(0) must be equal to
SInX

loge(l +x%(tan x:)) .
flx) = 1 7 0 Hvohaw x =0 N wmga;l:m sTwod. (0) &

sinx?

:)gg:mmoim e

Options :

1.#"1

Question Number : 65 Question Id : 544734545 Display Question Number : Yes Is Question
Mandatory : No
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2
dy
If x =secl —cosf and y = sec™ @ — cos™ 6. then (x* 4 4) (d_ic) =

_(dy)\?
x = sec — cos B H8030 v = sec™ § — cos™ § esond. (x? + 4) (ﬁ) =

Options :
1% n(y + 4)

, ¢ M°+4)

3 % n(y+2)

4. F ”2(}’2 + 2}

Question Number : 66 Question Id : 544734546 Display Question Number : Yes Is Question

Mandatory : No

5 &t g
If f(x)=|1 2x 3x2|.thentheratiof"(x): f'(x) =
0 2 bx
r %%
flx) =11 2x 3x2| eo0d. f"(x): f'(x) G =
0 2 bx
Options :
1.v 28X
) % ¥ iy
3 % 3x i 2
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Question Number : 67 Question Id : 544734547 Display Question Number : Yes Is Question
Mandatory : No

If y=log_ ,,tanx —log, .

dx dy
cotx + Tan ?* ( ) then — =
+ 4—x2 dx

4x dy
2) 0B, — =
=

y = log ., tanx —log,, .cotx + Tan™" (4 o

Options:
1
4+x2

Question Number : 68 Question Id : 544734548 Display Question Number : Yes Is Question
Mandatory : No

If y=sin(sinx)and y" 4+ f(x)-y" + g(x) -y = 0.then f(x)-g(x) =
y = sin(sinx) 008030 y" + f(x) -y +g(x) -y =0e008. f(x) - glx) =
Options :
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1
— sin(2x)
1.v 2

o cos(2x)
2. % =

3 % sin(2x)

4 % cos(2x)

Question Number : 69 Question Id : 544734549 Display Question Number : Yes Is Question
Mandatory : No

A spherical iron ball 10 cm 1n radius 1s coated with a layer of ice of umform thickness. which
melts at a rate of 50 cm® /min. When the thickness of the ice is 15 cm. the rate at which the

thickness of ice decreases 1s cm/min

10 cm 6500 (0 8 Fs62) oocoko DSBS oot ootod LrorT
SrHD000AI6. 8 20 A 50 cm? Sy SR B, & 0t ot
15 cm 6:5) 2360, T dotsod Srvcse Bew A em

Options :
5
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Question Number : 70 Question Id : 544734550 Display Question Number : Yes Is Question
Mandatory : No

Find the minimum value of 2x + 3v when xy = 6.
Xy = 6 00D 2x + 3y cdog), AN e
Options :

1.% 9

2.v 12

Question Number : 71 Question Id : 544734551 Display Question Number : Yes Is Question
Mandatory : No

The volume of a spherical balloon is increasing at the rate of 30 cc per minute. Find the rate of

change of surface area of the balloon. when its radius 1s 6 cm.

w8 fvsed G 6 et GTwg), 20RDBIrRAD AsFS 30 ce Sy DT 0B, &
VLY migﬁgan 6 cm TP G3) )0 T G0V PTG’ Arcdy G

Options :

1% 2 em®.min™?
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30 cm?2. min—1

2. %

3 v 10 cm?. min~1!

2 1

4 = 20 cm®.min-

Question Number : 72 Question Id : 544734552 Display Question Number : Yes Is Question
Mandatory : No

1 1
If g(x) = Ef(sz — 1) - ;f(l - 12] .Y x € R, where f"(x) > 0.V x € R. Then g(x)

15 mcreasing m the interval

. 1 1 .
Vx€ER. glx)= ?f(3x2 - 1) + ;f(l - xzj. eV rER f"(x) > 0. wowd, g(x)

a&‘@mmdb?g 90 dan

Options :

= p¥el s
—= ey 00
1w \V2 VE
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Question Number : 73 Question Id : 544734553 Display Question Number : Yes Is Question
Mandatory : No

If the function f(x) = 2x® — 9ax? + 12a%x + 1 attains its maximum and minimum at ‘p’ and

‘g’ respectively such that p? = g. then ‘a’ equals

fx) = 20 = 9ax* + 12a%x + 1 900 “p’ 0By ‘g & 96 S (162} ok
€02 Do) Tod. 2Basw p* = q wab{er Gold. ‘0’ Dews

Options :

1.“*’30

4.% —1

Question Number : 74 Question Id : 544734554 Display Question Number : Yes Is Question
Mandatory : No

I (x)=x -!—% ,then f(x) =

)=y —I-% esod, f(x) =

Options :

| % x2 +log(x) + ¢

&P .
—+ log(x) + ¢
2.v 2
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3 % X+ log(x) + ¢

% _
= + log(x) + ¢
4, %

Question Number : 75 Question Id : 544734555 Display Question Number : Yes Is Question
Mandatory : No

If f(x)

)= (cos?x)y1+tanx then its anfi-derivative F(x)= . given F(0) = 4
1 _ |
X)=7 ———— 1 Ao, f(x) awe) drsed F(x) won] Hdeho
(cosx)V1+tanx

F(0) = 4 wawd, F(x) =

Options :

- V14 tanx + 4

2
— (1 +tanx }E’IE

2. % 2

3 @ 2(1,-' 1+tanx + l)

4 % V1i+tanx +2

Question Number : 76 Question Id : 544734556 Display Question Number : Yes Is Question
Mandatory : No
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If the primitive of cos(logx) is f (:(}{cos( g(:x:}) - s'm(h (x))} then which among the
following 1s true?

cos(log x) a0g), PAFELA f [:x){cos( g(x]) + sin(h (x))} 20 RATIB, P So8
TR B daaw?

Options:
_ ot |
B =—
1. % x
- 1
SHE | R
2. ¢ 2

Question Number : 77 Question Id : 544734557 Display Question Number : Yes Is Question
Mandatory : No

f secx J
X =
J/sin(2x 4+ 68) +sin 6

Options :

- -Jr{tanx +tan@)secl + ¢

5 @ JZ{taux + tanf) secH + ¢

- xf;i_'(:sinx +tanf)sech + ¢
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4, % wfrz{:cos x+tan@)secl + ¢

Question Number : 78 Question Id : 544734558 Display Question Number : Yes Is Question
Mandatory : No

w4

T
If J log(sinx) dx = 8k ,then J log(1 + tanx) dx =
0 0

m/4

T
[ log(sin x) dx = 8k eso00S J log(1l + tanx) dx =
0 0

Options :

1.“*“"3'{C

Question Number : 79 Question Id : 544734559 Display Question Number : Yes Is Question

Mandatory : No

1 1
If [ 1 —a) dy= }cJ x"(1—=x)™ dx , then the value of k equals
0 0
1 1
( a(l—x)"dx =k f 21— )™ dx ©ond, k Do
0 0
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Options :

1 W’ It

Question Number : 80 Question Id : 544734560 Display Question Number : Yes Is Question
Mandatory : No

; . . m . . p— ’
The equation of the curve passing through the point (O'I) and satisfying the differential

equation (e* tany) dx + ((l + e*) sec? y) dy = 0 1s given by

(U,%) Doty (ot T, (e* tany) dx + (1 + e*) sec? y] dy = 0 93 95803
RDSOETD) S)000E 58N V), VLB LY.

Options:

| v (14+e*)tany = 2

5 % 1+e¥=2tany
1+e*=2secy

3. %

4 % (1+e®)tany =1k
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Physics
Section Id : 54473411
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40

Enable Mark as Answered Mark for Review and

Yes
Clear Response:

Question Number : 81 Question Id : 544734561 Display Question Number : Yes Is Question
Mandatory : No

Which year was declared as the International vear of physics?

A (Sl e abi g @o@g‘éoi} FES TR VoSG0 DS d?

Options:
1 % 2002

, % 2003

3 v 2005

4 % 2007

Question Number : 82 Question Id : 544734562 Display Question Number : Yes Is Question
Mandatory : No
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One angstrom (A) is equal to:
28 ©ohy (A) Dewd B3I DATVA0?

Options :

1 % 107° mm
5 » 1077 mm
5 % 1078 mm

4 % 1077 mm

Question Number : 83 Question Id : 544734563 Display Question Number : Yes Is Question
Mandatory : No

An object is moving with a uniform acceleration which 1s parallel to its mstantaneous direction

of motion. The displacement(s) — velocity(v) graph of this object 15

2 500 P20IERANS BDRR) 6. T S(EnL B8 ST VY B FATIET
6)6. 340 aIng) Fdgosw (5) ~ 3w (v) T

Options :

. S
1. % ¢ ;
2. ®
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w

i}

]

L

a

Question Number : 84 Question Id : 544734564 Display Question Number : Yes Is Question
Mandatory : No

A hiker stands on the edge of a cliff 490 m above the ground and throws a stone horizontally

with an initial speed of 15 m.s™*. The speed with which it hits the ground is

Zrad PRV 490 m oL S0k oA 28 T0NA §88 DATBSA™ 15 m.s™

A0S DT, 98 HPAD T AW

Options :

1 ¢ 99 m.s~ 1

5 % 101 m.s™}
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3 % 103 m.s 1

4 % 105 m.s™*

Question Number : 85 Question Id : 544734565 Display Question Number : Yes Is Question
Mandatory : No

Two paper screens A and B are separated by 150 m. A bullet pierces A and then B. The hole
B 15 15 cm below the hole in A. If the bullet is traveling horizontally at the time of hitting A.

then the velocity of the bullet at A is: (g = 10 m.s™2)

Ooty 518 B0 A 208050 B e 150 m rdane” S soberd. &) o, &8 g A
000k 86776 B © 26 ri}nﬁ)bg érlf). A B0 15 cm S0t B do@n GR)8. A ¢
§3 22000A0HL WTE £82 DSreBEIVM Doirtedtond A 0 EDTE) 1 od?
(g=10m.s7%)
Options :

100\@ m.s t

1. %

, % 200V3 m.s7!

5 % 300V3 m.s™*

2q
4V 50043 m.s

Question Number : 86 Question Id : 544734566 Display Question Number : Yes Is Question
Mandatory : No
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A 30 kg slab B rests on a frictionless floor as shown i the figure, A 10 kg block A rests on
top of the slab-B. The coefficients of static and kinetic friction between the block 4 and the

slab B are 0.60 and 0.40 respectively. When block-A is acted upon by a horizontal force of

100 N. as shown, find the resulting acceleration of the slab-B.(g = 9.8 m.s7?)

100N
—

/‘ A (10 kgy)

B (30 kg)

Floor

30 kg et (o DS HLANS" Erbdt 26 6rd Iup 63)8. 10 kg abH o 8,
20D Ao gaes‘ GioB. B0} 0Bk DL gy B Lodm HrSw 0.60 eowd (3
6 040, 10kg © 629 100N © $2 ;mm:a:; RS DGR, g =9.8 m.s ™
oS Dus avg) HIS S(dmin

Options :

| x 098 m.s7?

5 % 1.47 m.s™2

3 % 1.52 m.s ™2

4w 131 m.s 2

Question Number : 87 Question Id : 544734567 Display Question Number : Yes Is Question

Mandatory : No
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1

A ball of mass 3 kg. moving with a speed of 100 m.s™". strikes a

wall at an angle 60° (as shown in figure). The ball rebounds at the Ball 208

same speed and remains in contact with the wall for 0.2 sec: the

force exerted by the ball on the wall is:

----------- Wall
3 kg $3(o°3 (i w08 100 m.s ™" Swd Hatredir 60°

Endnd’ Fedy 808, (Duwe’ arddw) 0.2 sec e Fid
08" God, 08 2208 w0 DR0EH PairdedR. fie e
£08 2AIrHow 0 dod?

Options :
. » 1500V3 N

5, % 1500 N
5 % 300V3 N

4 % 300 N

Question Number : 88 Question Id : 544734568 Display Question Number : Yes Is Question
Mandatory : No

An engine develops 20 kW of power, How much time will it take to lift a mass of 200 kg to a
height of 40 m? (g = 10 m.s7%)

25 QoBAN &mgé;m 20 kW. 200 kg 8{0°30 40 m £ J808) IBErS dod SV
D007 (g = 10m.s77)

Options :

1.v 4s
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3 % 88

10 s

Question Number : 89 Question Id : 544734569 Display Question Number : Yes Is Question
Mandatory : No

Two bodies having kinetic energy in the ratio 4 ¢ 1. are moving with same linear velocity. The ratio of

their masses 1s

28 B0 Sriawd, Boch SRy 411 Anae" (8380 500 &) D. T8 @I WG Jod?

Options :
1% 172

o % 1:1

3w til

4, %

Question Number : 90 Question Id : 544734570 Display Question Number : Yes Is Question
Mandatory : No

Water is falling on the blades of a turbine from a height of 25 m. 3 X 10° kg of water pours on

the blade per minute. If the whole of energy is transferred to the turbine. power delivered 1s:

25m g &0, 05)S aIE) HED A BEIB0A. 53 AN B 1S 3 X 10° kg A

D6, Aeidn 35 @%55) 2036 Boto)dond, e Bk 5“:.‘138?5:11} Jodh?

Options :
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» 12250 W
« 16250 W
5 « 8250 W

4 % 20250 W

Question Number : 91 Question Id : 544734571 Display Question Number : Yes Is Question

Mandatory : No

As solid sphere of mass ‘M and radis ‘R’ spmns about an axis passing through its centre making
600 rpm. Its kinetic energy of rotation is

M @33, ‘B :.T"?@“gan o w8 AR E0 TR Sodaw Aot D'ad @50 HorT 600 rpm
SEE gaoeren SRR 6. T Fdom (888 dody?

Options:

2

5 M

E_EMZRZ
® 5

80m MR

2 2
4 80r- MR

Question Number : 92 Question Id : 544734572 Display Question Number : Yes Is Question
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Mandatory : No

Two fly wheels A and B are mounted side by side with frictionless bearings on a common shaft,
Their moments of inertia about the shaft are 5.0 kg.m? and 20.0 kg. m? respectively. Wheel A
1s made to rotate at 10 revolution per second. Wheel B. mitially stationary. 1s now coupled to A

with the help of a clutch. The rotation speed of the wheels will become

A 2080t B 93 Bot) 6908 B350 200e G TP YO 204t &9 6080h 0 28,
8] 900 0GA). GO DA T8 2ES( 5w SR 5.0 kg.m? So8asn

20.0 kg.m?. 820 A 58 2802 F2VEFW BRVeA. 206 NEND ?g@é" 6) B8 B 50
Defaand A § 28800 B0, B FHm DA dod ©)B0d?

Options:

1 % 245 rps

5 % 0.5 rps

3@,2?";93

4$3r'ps

Question Number : 93 Question Id : 544734573 Display Question Number : Yes Is Question
Mandatory : No

In case of a forced vibration. the resonance wave becomes very sharp when the:

PGS oDT® RAVANEG’, YD BRDTE SBOTTAS DB D6yEIHE?

Options:

quality factor is small
o 063 2225000 D) D &R D

2. ¢
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dampening force is small
e&;ﬁmcg LIV BEY) O A HED

restoring force 1s small
.gja‘.a:.g"n:-s 2X0HD HEYD &) DD

applied periodic force 1s small

4w BAVDOS BOOR LV SE D GR) )G

Question Number : 94 Question Id : 544734574 Display Question Number : Yes Is Question
Mandatory : No

If the earth stops rotating in its orbit about the sun. there will be variation i the weight of our

bodies at
‘R}J"CiJ?S:) W Sééeff BADY AV q0S), FHRAD BHS SWYPY TTL A0
Peln o0

Options:

Equator
aiymc;5 B ;ﬁ%ﬁ

60° latitude
60° e9ZroB0 ;ﬁg

Poles
BT DG

Nowhere

6)53}:;“ Lo
4.
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Question Number : 95 Question Id : 544734575 Display Question Number : Yes Is Question

Mandatory : No

At what depth below surface of the earth. the acceleration due to gravity will be half its value

of that at 1600 km above the surface of the earth?

I &0 Aot 1600 km 09433956 %—‘0‘1 mﬁjégﬁsﬁﬁm Dendes” B Dewd
0TS 27 GBS0 Aol dod &' bﬂ.wa@?

Options :
6
1. ¢ 43 x10° m

, % 319X 10° m

3 % 1.59 X 10° m

4 55X 10° m

Question Number : 96 Question Id : 544734576 Display Question Number : Yes Is Question

Mandatory : No

The dimensions of stress 1s

DAeerdS A :.,:.'Fd:y.:r"

Options :
-1 -2
1@ [ML T ]

L o [ML3T]
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Ly [MI2T7]

Question Number : 97 Question Id : 544734577 Display Question Number : Yes Is Question
Mandatory : No

What causes the free surface of a liquid to have munimum area?

B30 WS, G EHBBVID D DT SO Gocterd8 somAw IB?

Options :

Viscosity
S al=
1. % e

Surface tension

ejvejééej
2.

Diftusion

3 % Does

Pressure
. &AL

Question Number : 98 Question Id : 544734578 Display Question Number : Yes Is Question
Mandatory : No
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Assertion (A): The upper surface of the wing of an aeroplane is made convex and the lower
surface 1s made concave.
Reason (R): The air currents at the top have smaller velocity and thus less pressure at the bottom

than at the top.

3-?‘}9.‘3;'1).) (A): 28 DArddw CBJJSZ) 656 2 S0 L5 dw M) Sob SRV
DEPS0A A Soird 5@"(&).

s6n (R) : 9 9arifen p epaand” 8. ) $9A eotran. Bemdvd  erdaw
$oid $ots 2GRN B3,

Options :

Both A and R are true and R is a correct explanation for A
A 080k R Godr 28 0. R, A £ 2beand doH60

Both A and R are true but R is not a correct explanation for A
A 208030 R Godir 28 @00d0. R, A £ 089005 2H66 5760

A is true. R 1s false
A D0 20008, R 20 20008 576

A 1s false. R is false

4% A 208030 R 28 200350 579

Question Number : 99 Question Id : 544734579 Display Question Number : Yes Is Question

Mandatory : No
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A glass vessel of volume V, 1s completely filled with a liquid and its temperature is raised by
AT. What volume of the liquid will flow over. if the coefficient of linear expansion of glass is

t, and coefficient of volume expansion of the liquid 1s y,

V, 50208480 &DAD a8 e g 8 G938 QPO Jonedd. e ¢ s, &@e‘.’#
AT Hotdeidd. e sy, anﬁ .:?5? @ (DESAN @y BCID G0N A0S WRDOITE
:.r°5§" & (rasa , ©od dod Godn JohThdued?

Options:
V, AT (y, — 3a,)

wf,}

L w Vo AT (3a, —v,)

o« (r,—3ag) AT

. (3a, —y,) AT

Question Number : 100 Question Id : 544734580 Display Question Number : Yes Is Question
Mandatory : No

A Carnot engine whose heat sink 1s at 27 °C has an efficieny of 40 %. By how much should its

source temperature be changed so as to mcrease its efficiency to 60 %?

40 % 658 A% 2.8 S"B‘J‘ o aR0s), o8 egﬁrj@ 27°C & aig), GLS 60 %
MS) Dot BSe GRS &gf{jévfié ot G0y gotd?

Options :
1.« 250 K

, » 100K
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L« 500K

, « 350K

Question Number : 101 Question Id : 544734581 Display Question Number : Yes Is Question
Mandatory : No

A diatomic gas is heated at constant pressure, what fraction of the heat energy 1s used to increase

the mnternal energy?

0209 DD 3¢ 28 BLDOATIE T B Babd, osgs $8D DostrdS 64 88
0308, Jod ) SHTAEB0E?

Options :
3

1.335

Question Number : 102 Question Id : 544734582 Display Question Number : Yes Is Question
Mandatory : No
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An ideal gas 1s taken from state-1 to state-2 through
optional path 4, B, C and D as shown in the P-V diagram. A
Let @, W and U represent the heat supplied, work done P
and change internal energy respectively, then

48 866) o 0 1 ol 59 28 PV 7D |
Sta06" i dwrr 4, B, C Sobai D ardsww D
oo Sd Tudss. @, I Sty U w gosor  (00) v
TR0 0B G20, 28 5 308050 BoddS

33 SR 4RO, B

Options :
1. Qa—Qp =Wy —W,
5 % Qs —Wp = Q¢ —W¢

L x Wa < Wp <Wp <Wp

4.$QA{QB{:QC{:QD

Question Number : 103 Question Id : 544734583 Display Question Number : Yes Is Question
Mandatory : No

When the temperature of an 1deal gas 1s increased from 27 °C to 127 °C. calculate the

percentage mcrease 1 ifs Voms:

28 866, TOHOY A egﬁg@m 27 °C &ve€. 127 °C & 2o o 0E), rMs 30
9’ DOHGL T

Options :
1% 37 %
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% 11 %
33 %

4V 15.5 %

Question Number : 104 Question Id : 544734584 Display Question Number : Yes Is Question
Mandatory : No

5 T
Two waves are represented by: x; = Asin (wt + E) and x, = Acoswt

Then the phase difference between them s

¥, = Asin (mt + E) 2080 x, = A c05 t & Botd Sorid0e 306§ 67 B0

Options :
T

1.8 6

Question Number : 105 Question Id : 544734585 Display Question Number : Yes Is Question
Mandatory : No
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Assertion (A): The focal length of lens does not change when red light 15 replaced by blue light.

Reason (R): The focal length of lens does not depend in colour of light used.

.:)%“)é.ﬁn (A): Q) 083 QGO DeAn 508 TERDE S50 mj'goejdan bebiis/nb)
5°dtso (R): s&80 majéo@dm 508 Gorbe) BIrEO6M.

Options :

Both A and R are true and R is a correct explanation for A
A 0831 R Godir D801, £8030 R 038 A § 280 DO

Both A and R are true but R is not a correct explanation for A
A 20Boin R Godor 2801, 570 R 0938 A & 28000 D6 56

A 1s true. R 1s false
A 28008, 0 R %8 57

Both A and R are false

4 A 58030 R Gotir DO 57

Question Number : 106 Question Id : 544734586 Display Question Number : Yes Is Question
Mandatory : No

The wave fronf 1s a surface 1n which

S0t 98 w8 £dAD &DHBBBL

Options :

all points are in the same phase

- 2,8 6536° &) 9y Dotdadew

2. %
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there are pairs of points in opposite phase

(OB ©53S° &) ) DocdPHen

there are pairs of points with phase difference (mt/2)
- (1/2) &7°8¢es0 59HD 2oty Docayen

there 1s no relation between the phases

. x GES Dotiodan S0

Question Number : 107 Question Id : 544734587 Display Question Number : Yes Is Question
Mandatory : No

Two charges 10 uC and —10 uC are placed at points A and B p

L
separated by a distance of 10 cm. Find the electric field at a point &

.
‘P’ on the perpendicular bisector of AB. at a distance of 12 cm L
from 1ts mid-point. i 1'2 om
ot esa7en 10 uC 0808w —10 uC &0 10 cm &rded” A i

ouc 1 =10pC

200010 B decoipe 3 dxdaved &7y, 4B dg, B ey T g

Dotk A0oé 12 em GrE0E’, T vty B T ——1m—
P’ Do) 3¢ ASTTD) 08 0l?

Options :

. % 16.4x10° N.CT

. 28.4x10° N.CT*

2

5 % 82x10° N.C™*

4.
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41x%x10° N.¢1

Question Number : 108 Question Id : 544734588 Display Question Number : Yes Is Question
Mandatory : No

When a number of charged liquid drops coalesce. which of the followmg quantity does not change?

998 3998 SEre) WSS wit) E0HTS & 408 TS’ D TR Ardd?

Options:
Charge

- 8500 Fo00

Capacitance

- Ei’f"aﬂﬁb

Electrostatic energy.

6 DS 28
3. % 7% -

Potential

 SrEDaieS
4, % =

Question Number : 109 Question Id : 544734589 Display Question Number : Yes Is Question
Mandatory : No

What 15 the angle between maxinum value of potential gradient and equipotential surface?
ﬁ“ﬂf})oﬁsﬁ pobaliely: ﬁ&fﬁ D08 BT "faméSé &00er3 3)(‘,’)5 £330 does?

Options :

1.330
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SE]

Question Number : 110 Question Id : 544734590 Display Question Number : Yes Is Question
Mandatory : No

The conductivity of a conductor decreases with temperature because. on heating:

TS0 AS), TS &gﬁﬁég SOAD. QoIS 5&6&&@3@

Options :

Atoms vibrates vigorously
£9£30)80 DDBSALTT SodotAD

Conductor expands
TIPS T8 Dot

Electrons gain energy

DT AR 38D TocdD
3.

Electrons vibrate vigorously
DO DDOSHMTT oot
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Question Number : 111 Question Id : 544734591 Display Question Number : Yes Is Question
Mandatory : No

Torque required to hold a small circular coil of 10 turns, 2 X 10 m” area and carrying 0.5 4

current is the middle of a long solenoid of 10° turns per meter carrying 3 A current, with its axis

perpendicular to the axis of the solenoid is
29 Do 10° wew, 3 4 ofS preransy 893 Tés Tdond e’

2x 107" m* progn wBat 0.5 4 SR 8, D vaw TdTand vsanse
ORI Goti, 10 ¢t SDAR DR 2)T5°0 SOt 18 GocdtmE 5798V £26), dod?

Options :
T =7
1 ¢ 12ax 10 " Nm

, x 6Tx 107 Nm

, x AT X107 Nm

L 27 x 1077 Nm

Question Number : 112 Question Id : 544734592 Display Question Number : Yes Is Question
Mandatory : No

Two concentric coils each of radius equal to 4m cm are placed at right angles to each other. If
10 A and 24 A are the currents flowing through the coils. respectively. the magnetic induction

at the center of the coils will be

28) 88 4m em (80 SR Dot D3E0g B oLy 28IEEE VorAT &) .
Boto) BfL) WY Mot Parowd (S Fen 10 4 ook 24 4 wand, & aff Ot
Soghad 96 &oll 8301)5‘3’0@ 2063 Jodh?

Options :
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- 13 x 10 >whm ™2

, x 12X 10°wbm ™2
3 % 7 X107 wbhm™?

4 % DX 10" °whm 2

Question Number : 113 Question Id : 544734593 Display Question Number : Yes Is Question
Mandatory : No

An a.c generator consists of a coil of 100 turns and is of cross-sectional area 3 m?. It is
rotating at a constant angular speed of 60 rad.sec™! is a uniform magnetic field of 0.04 T.

Resistance of the coil 1s 360 . What 1s the maximum power dissipation in the coil?

28 a.c 23606 100 ot $BAD 2,8 O toty 2Bk 3m” Jocsfde dFeridy
$ORa0DY &, 0.04 T D68 0y 08 F3we’ 60 rad. sec™ 20 Eiab 28 0
gorren BRed. Sridoly MBesw 360 (. Sriow (18R ,av:.u% 03050 Dod?

Options :
720 W

1.v
, x 518W

L % 360W

4 % 100W
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Question Number : 114 Question Id : 544734594 Display Question Number : Yes Is Question
Mandatory : No
Assertion (A): Magnetic flux is a vector quantity.

Reason (R): Value of magnetic flux can be positive negative or zero.

QB SIAW (A): eﬂnﬁaé‘%oe‘.‘a DT I AN wE DA% T°3.
560 (R): EﬂQ‘.iJf.'F“ch@ DT ITE DD c_ﬁ:ﬂéés;m. mw@ésm g AT .

Options :

Both A and R are true and R is a correct explanation for A
A 208030 R Godir 2OGDHAD. £0dain R 938 A S 280D DH0e

Both A and R are true but R is not a correct explanation for A
A 208030 R Bodr 00GHA, 520 R 938 A & 2000 Dd6e so6

A 1s true. R 1s false
A 28g058, 50 R 08 5o

A 1s false. R 15 frue

, o AROTD® 5°2 R 280058

Question Number : 115 Question Id : 544734595 Display Question Number : Yes Is Question
Mandatory : No
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The output current versus time curve of a rectifier is
shown 1 the figure, The average value of output current

i this case 1s

Current

28 3)5@5&605 aog), A6 DTS, TUAVAD A0
T L3S ErORTE. & HodEy30d’ Ao |

E

Time
DTN ) AN Densd

Options :

1.330

3. T

Question Number : 116 Question Id : 544734596 Display Question Number : Yes Is Question
Mandatory : No

The shortest wavelength of X-rays emitted from an X-ray tube depends upon

X-806 TeFA0 Aot DS X-Sdeane S:JKE:)} édcﬁ@&ah}a

Options :

Nature of the gas in the tube

. TFH0G°D TN CIE), DEETHDW
1.

2. ¢
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Voltage applied to tube
TS 00I00DD STE

Current in the tube
TS DA DITIPAD

Nature of target of the tube

T FA0e5° D DEED A0S DD
4, %

Question Number : 117 Question Id : 544734597 Display Question Number : Yes Is Question
Mandatory : No

If a photocell is illuminated with a radiation of 1240 A, the stopping potential is found to be 8 V:

then the work function of the emitter and the threshold wavelength are:

25 508 206PD) 1240 A 800 5w €0 Dt 58 S Ro0BIBY®, Wese
TE006 8V 1m S0 0dH6. owd arrds dug, 53 Hlabaw wbai ebos

B0oART 20 20T
N _—

Options :

. % 26V, 2000 A

. 2eV, 6200 A

, % 2eV, 2480 A

4% 3¢€Y, 6200 A
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Question Number : 118 Question Id : 544734598 Display Question Number : Yes Is Question
Mandatory : No

The wavelength of the first spectral line of the Lyman series of hydrogen spectrum is
TEBD 38 HOINS'D G2 368 e S g SoEgw

Options :
1. % 912 A

, » 12154

3 % 1512 A

4 % 6563 A

Question Number : 119 Question Id : 544734599 Display Question Number : Yes Is Question
Mandatory : No

Which of the following nuclear reactions is possible?
808 TBS° FB3RD Bogs 565 DB?

Options :

B0 Het —— NV ¢

24 i 20 4
. HNa + 1I—I _ mNe + 2Hle
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\ ?N“ = 1Hl o Gc” £ 8 ¥y

Question Number : 120 Question Id : 544734600 Display Question Number : Yes Is Question
Mandatory : No

A change of 0.04 volts takes place between the base and the emitter when an mput signal 1
connected to the common emutter transistor amplifier. As a result. 20 uA change takes place in
the base current and a change of 2 mA takes place in the collector current. The input resistance

and AC current gamn are

28 A% VoBT) eméd &7 bgﬂ)é Rofrdo B BEFdHw ok egﬁcﬁv SVe
0.04 S %?3 ;13"6):] ;f:rf)l)oﬁ. 2O 20 pA hrdo:} L [e] Dm@ DTS AT 2 mA
ox08) AP 06 DS DTN AMB008. A8 e Boxo AC
DS T 2

Options :

1k &100

5 2k0 & 100

3 % 2k0 & 1000
4 % 1kQ & 200

Chemistry
Section Id : 54473412
Section Number: 3
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Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40

Enable Mark as Answered Mark for Review and
Yes
Clear Response:

Question Number : 121 Question Id : 544734601 Display Question Number : Yes Is Question
Mandatory : No

A subshelln = 3,1 = 2 can accommodate maximum of
n=3,l=2 0308 &3 Jrond SHENDH Jugde eSHs Dowg

Options :
10 electrons

10 Dder==Hen
1. % i

6 electrons
6 .Dnug*.%m

18 electrons
18 J@gﬂéw

16 electrons

16 Jeorsroen
4. ® 2

Question Number : 122 Question Id : 544734602 Display Question Number : Yes Is Question
Mandatory : No

AP EAPCET 2021



AP EAPCET 2021

If the work function for the photoelectron emission of a metal is 3.75 eV then the threshold
wave length of the radiation needed for the ejection of the electron is approximately

508 JOTR EIFGANHD w8 &Iran ) DI Paoanaw 3.75 eV eond &'ran

A000) JUTR A0 DBDODEIS SOV DS0EBID OI0), 5002 @Goﬁ@%ﬁn

e de

Options:
1 % 315 nm

5 % 280 nm

3 @ 330 nm

4 % 290 nm

Question Number : 123 Question Id : 544734603 Display Question Number : Yes Is Question
Mandatory : No

With increasing Principal Quantum number, the energy difference between adjacent energy

levels i H-atom
26 () o) DME &0l H DOArHE 1S 98D &) 38 g“cmv 3 B

Options :
Decreases

S
1.4 A

Increases

e
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remain constant
‘?&}admjrr B0t

decreases at low level of ‘n” & increases for higher value of ‘n’

B S 1 See) S oh 6}535:3 11 DeVS A DA
4' ] ] i G

Question Number : 124 Question Id : 544734604 Display Question Number : Yes Is Question
Mandatory : No

The electronegativity of the given elements increases in the order

S0 oresy damz}mém“e:&ésam 207 S04

Options :
1 % £, N..5SL..F

, « N, Si, C, P

2 o SLPy B W

4 PeSi B

Question Number : 125 Question Id : 544734605 Display Question Number : Yes Is Question
Mandatory : No

The first ionization enthalpies of Mg and Al can be expected to be
Mg $08050 Al © 2068 earBRS Jordw Dewdeww S350 4.

Options:
1. %
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IE, (Mg) = 5775 kl.mel *. 1IE, (Al) = 577.5 kI.mol™*
- IE, (Mg) = 577.5 kl.mol™t. 1E; (Al) = 737.7 kl.mol™?

. o [Es(Mg) =737.7 kI, mol™1. 1E, (Al) = 737.7 kJ.mol ™!

4 v 1E1 (Mg) = 737.7 kl.mol™t, IE, (Al) = 577.5 kJ.mol™?

Question Number : 126 Question Id : 544734606 Display Question Number : Yes Is Question
Mandatory : No

How many of the following statements is/are correct?
a) Mercury is the only metal that exists as liquid at room temperature.
b) Among non-metals. carbon has the highest melting point.
¢) Hydrogen is the most abundant element in the universe.

d) Oxygen 1s the most abundant element in the earth’s crust.

206 .:35%565::“9.:?5“ DY) %6 ©oI?
a) (18 aT'(S 3¢ 08 S'raw wE) G DI
b) 95" F0es” S°G1D £ BIBS BDFID D30 Eotos
¢) DEGHNG” PERD 93 LAAT VDot JFVEIN
d) Zrdo Toees” &8 \2d 0d DB ©DotsdR0

Options:

1.331
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Question Number : 127 Question Id : 544734607 Display Question Number : Yes Is Question
Mandatory : No

A covalent molecule X — ¥ 15 found to have a dipole moment of 1.5 X 107%° C.mand a bond
length of 150 pm. The percent ionic character of the bond will be

X - ¥ 3 08 dnairadad 23§ emi) ae), Bigdepse 15X 107 C.m
oBain moq@_)qéo 150 pm ©00a, & tioge ANS), BOIFAS Lol Fdo

Options :

1 % 50 %

Question Number : 128 Question Id : 544734608 Display Question Number : Yes Is Question
Mandatory : No

The hybridization of Se in SeF, and its geometry respectively are

SeF, &° Se & 6o Dosdad:a0 ok SeF, aiog), B85S Hdwr

Options:

spd. see-saw shaped
v spid SBatn S B 35S
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sp3d?, octahedral
- sp*d? 200050 VRV 8D

sp>d?. trigonal planar
spPd® 08050 dde S0 5D

sp3d?, square planar

| sPd? 20800 D20BL SBER 94O
4, %

Question Number : 129 Question Id : 544734609 Display Question Number : Yes Is Question
Mandatory : No

Incorrect matching amongst the following 1s (according to geometry of molecules)
$od a0’ YT 2 DEBRCEDD (e96m w}gﬁb@ HEH0M)

Options :

1 ¢ H,0 ,NH,

,  BeCl,,C0,

. SFa,TeCly

. ClF3,ICl,

Question Number : 130 Question Id : 544734610 Display Question Number : Yes Is Question
Mandatory : No
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When the temperature of a gas 15 increased from 30 °C to 930 °C, the root mean square speed of

the gas would

WS T0iue) ), egﬁgam 30 °C &0 930 °C £ o™ & Taky e rms Mo

Options:
get doubled

B&05Y) e
1.+ ©

I‘Elllaill constant
e9e7°0 Godiaad

gets halved
AMTAS Dfo 9D

increase by 5.5 times

5.5 G 2R
4. %

Question Number : 131 Question Id : 544734611 Display Question Number : Yes Is Question
Mandatory : No

Three flasks of equal volumes contain CH, , €0, & Cl, gases respectively. They will contain

equal number of molecules if

28 DOBHBATBAD (10 Jurc> S5 Fws” CH, , €0, 306080 Cl, o &),
TS 8 ‘bo&)}ge‘)‘ TP okt Rt

Options :

The mass of all the gases i1s same

. ©) TToIVPY Qb?gc“% AArHA) ond
1.
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The mass of all the gases is same but Temperature is different

©9) TTOVYV BITB VATDINIT ol ag"’r_iéw D) BT €0t
2.

Temperature & Pressure of all the flasks are same
©92) TO50HO DEDBN 208k &Y'G 28 DBBT &old

Temperature. Pressure & Masses same in the flasks

4w ) TPV DI, &gﬁj@m FaSlelontl ga5T% 280G ok

Question Number : 132 Question Id : 544734612 Display Question Number : Yes Is Question
Mandatory : No

If the volume of 15.9 g of carbon tetrachloride is 10 ml. calculate its density.
10 ml © 5°6,S BErEBE 2700 15.9 g oS 526, BEPEBE 0B dodd?
Options:

. x 318 R

- ~1
. 1.59 g.ml

- 0.159 g.ml™?

4 % 159 g.ml™*

Question Number : 133 Question Id : 544734613 Display Question Number : Yes Is Question
Mandatory : No
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0.63 g of Oxalic acid is dissolved in order to obtain 250 cm”® of its solution. Find the normality
of this solution. [Oxalic acid: (COOH),.2H,0 |

0.63 g © &5 ward) §8Rod 250 om” © BTTO5 BAve THTR) BIPAHBT. VAR,
& M G008 w&ﬁ)eﬂ Aedoriosn. (ugﬁ]é esaa: (CO0H),. 2H,0)

Options:
1 % 0.05N

, % 001N

3 @ 0.04 N

0.02N

Question Number : 134 Question Id : 544734614 Display Question Number : Yes Is Question
Mandatory : No

When an ideal gas expands isothermally from 5 m® to 10 m? at 25 °C against a constant

pressure of 107 N.m ™2, then the work done on the gas is

25°C. 10’ N.m™? de ?gdﬁndao D6 WS BOORTAIR) 5m3 Aol 10 m? 6% RS
D3’ E.T’]Sg tho 200N, &8 Tai 200 DA

Options :

1 % —100 MJ
> —50 M1J
3. ) _0.5 M;T
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=
. —10°MJ

Question Number : 135 Question Id : 544734615 Display Question Number : Yes Is Question
Mandatory : No

Find the approximate value of (AH — AU) in J.mol ™. for the formation of €0 from its
elements at 298 K. (R =8.314 LK Lmol™)

298 K o6 Qwruso ot €O Rodires 1:56566 (AH — AU) dend J.mol ™ 08’ dodrdorr
(R=8314].K Lmol™)

Options :

| % —1238

, » 1238
2477

4 % —2477

Question Number : 136 Question Id : 544734616 Display Question Number : Yes Is Question
Mandatory : No
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Match the following?

Sod TP BSHAID?

Species Conjugate acid
Al R000() €502
(a) NH; (1) H,CO;
(b) HCO; (i) Hs0*
(¢) H,0 (i) NHf
(d) HSO, (iv) H,50,

Options :
| o Lamiii), (b=1i),(c—ii),(d—iv)

, % (a—=1),(b—iii),(c—ii),(d—iv)

3 % (a—iii),(b—=ii),(c—i),(d—iv)

(a—iii),(b—=ii),(c—=iv),(d—1)

Question Number : 137 Question Id : 544734617 Display Question Number : Yes Is Question
Mandatory : No

The pH of 0.1 M solution of acetic acid will be [degree of dissociation of acetic acid 15 0.0132]
0.1 M QRe3S es:d @radean) pH dewosd (6§ Ry dairad vsé 0.0132)

Options :
. 4.32

1. %

, % 3.14
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5 % 1.14

2.88

Question Number : 138 Question Id : 544734618 Display Question Number : Yes Is Question
Mandatory : No

The main constituent of enamel on the surface of teeth 1s:

BT EDBIVHND &) ITWSS’ (0 DRI BRDLEID

Options:

. [3Ca,(PO,), - CaF,]
% Cﬂ'g[POf[-jz ! Hzo

- |3 Ca,(PO,), - Ca(OH),]

4 % CaFs

Question Number : 139 Question Id : 544734619 Display Question Number : Yes Is Question
Mandatory : No

H;B0; or B(OH), is considered as an acid because its molecule

H3;B0; §o B(OH); &0 &5:00TT D0(eiotiitrd 57680 7 0e0)

Options:
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Combines with proton from water molecule
D) e9cs) Mol Terowd Dodirtio Dot

Accepts OH from water, releasing a proton

- DO ol OH & f52red). ErS DEdGe) Bosie

Contains replaceable H ¥ jon
L Sofosedde H' e9a3rdi0 £98 eochoe

Can donate proton easily

4 AV TETrDA Trdo Borenie

Question Number : 140 Question Id : 544734620 Display Question Number : Yes Is Question
Mandatory : No

The element with maximum bond-energy

o0& Trehes” (103} erocd 33 doud

Options :

1.v €

u Ge

3

4, % St
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Question Number : 141 Question Id : 544734621 Display Question Number : Yes Is Question
Mandatory : No

Identify the coldest region among the following layers of atmosphere?

S08 T°¢" A VO TT DO TG BT

Options:

Troposphere

S5

Mesosphere

333552330535

Stratosphere

345"\ a08

Thermosphere

E&ﬁ éhﬁﬂi’)ﬁ

Question Number : 142 Question Id : 544734622 Display Question Number : Yes Is Question
Mandatory : No

Alcohols with molecular formula €,,H,,1, 0 are 1someric with

CiHy4450 @m&m&w (10 &30 e 5 eOPRTC) B[00 Tod GotoRd

Options :
Acids
£5.0T°e0

1. % =
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Ethers

2. v P

Esters

s x OB

Aldehydes
. 9O

ol o

Question Number : 143 Question Id : 544734623 Display Question Number : Yes Is Question
Mandatory : No

7.8 g of a compound having molecular formula C;H,. on reacting with CH;COCL/AICL; gives
8.4 g of a product which has molecular formula CyHg0. Calculate the percentage yield of the

product CqHg0. (Given atomic weights of H. € and 0 respectively are 1. 12 and 16)

ST (ol 69) 7.8 g © 86y 8 ¥, CH;COCH/AICLS 986" Caltg0
OROFELET (10 8.4 g © 31T ) AGBAIG. &8 &y) 20 Brbexd. TSI

Options:
1.« 70%

5 % 60 %

Question Number : 144 Question Id : 544734624 Display Question Number : Yes Is Question
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Mandatory : No
Arrange the following bases in decreasing order of basicity 1s
(1)  Aniline
(i1) O — nitroaniline
(111) m — nitroaniline
(iv) p — nitroaniline
FOS(D0 S S2028065° 9205 ot
i) d995
(i) 0—2& 203
(i) m — 2&° 2293
(iv) p— D& D0

Options :

e @ > GD) > Gv) > (i)

, o > (i) > (i) > (i)

3 % (iv) = (iii) > (ii) = (i)

4. % (iii) > (ii) = (i) = (iv)

Question Number : 145 Question Id : 544734625 Display Question Number : Yes Is Question
Mandatory : No

The complete combustion of one mole of benzene produces grams of carbon dioxide.

2 B8 B PO AW BoBodIE ___ e (0, Do erbid

Options :
1 % 164
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, % 220

5 v 264

4 % 308

Question Number : 146 Question Id : 544734626 Display Question Number : Yes Is Question
Mandatory : No

A metal crystallizes with a FCC-lattice, the edge of whose umit cell is x pm. The diameter of
this metal atom would be pm.

FCC wp0gom 48 6’0 R}Deﬁééde;o Do, P 8 otk TED) X pm. &8 &'
20780 ;.1"5"«00 pm.

Options :

1w2x

Question Number : 147 Question Id : 544734627 Display Question Number : Yes Is Question
Mandatory : No

AP EAPCET 2021



AP EAPCET 2021

If two liquids A and B form a nunimum boiling azeotrope at some specific composition, then
which statement among the following is correct?
w8 DOS RoOLAANE A 28050 B 0980 ot Garen w8 8 c‘.‘—,gﬁﬁé 6 &8
DEarE'D & Do\EEAONS, $ob DIVTVE’ HOGAB OO,
Options :

A — B molecular interactions are stronger than A — A and B — B interactions.

_— A — B erw D60 r:ﬁdigw. A— A 00030 B — B 606 t:)dé?) S0t LVAI.

The total vapour pressure of the mixture is greater than that corresponding to an ideal solution.
& G300 ) Ado Pty aGAo. TS BOY BB, T3eo Py Do Sold ALy AT Got.
2.9 : !

There is a slight decrease in volume when the two components are mixed.

€5 Joti) QaTreiad) S@béf@bm AV ‘&Jgﬂbnrr S,
3. % ) "

AH,, ;. will have a negative value.

) w AH i 2805 QETH) SolT EotIRD.

Question Number : 148 Question Id : 544734628 Display Question Number : Yes Is Question
Mandatory : No

The vapour pressure of a solvent decreased by 20 mm of Hg when a non-volatile solute was
added to the solvent. The mole-fraction of the solute in the solution is 0.5. What should be the

mole-fraction of the solvent for the decrease in the vapour pressure needs to be 10 mm of Hg?

28 wwﬁh%‘v Fao) $D0M w8 Tridee aaﬂt.‘:lhé‘.x:c‘bo 20 mm Hg 8036. & T o608
Tdo Y &rrio 0.5. wﬁﬁmé A30)8 10 mm Hg eorbbs) graed 258 ertio dod
0]

Options :
1.¢
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Question Number : 149 Question Id : 544734629 Display Question Number : Yes Is Question
Mandatory : No

Fora A + B — products the rate of the reaction is given by Rate = K[A] [B]* . The units of
rate constant (K) will be

A+B - 68T w0, 0 B0 ag), B B e 86w = K[A] [B]? eand e w6
6w f’gﬂ“os.;‘m (K) awg), oreren

Options:

1 % mol L7 5§71

5 % L. mol %t §1
mol?2 72§51

4 mel 2251
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Question Number : 150 Question Id : 544734630 Display Question Number : Yes Is Question
Mandatory : No

In the electrolysis of a CuS0, solution. how many grams of Cu are plated out on the cathode. in

the time that 1s required to liberate 5.6 L of 0y 4 measured at 1 atm and 273 K. at the anode?

CuS0, Toeasan Klmﬁés-g:méﬂ Latm 208030 273 K 56, 6836 36 Dmdvoi35 e.-régaé
2089908880 5.6 L OV =8E ) Q:J;l Tawe T°f Bheod?

Options :

. »3175g

L« 142g

L 4329

4 % 3175 g

Question Number : 151 Question Id : 544734631 Display Question Number : Yes Is Question
Mandatory : No

For an elementary reaction, X(;) —— ¥{g) +Z(,). thet, ,f:z 1s 10 minutes. In what period of

time would the concentration of X be reduced to 10 % of its original concentration?

w8 FEDE 686) X(g) —— Yg)+2(g) ©, £, Dooid 10 dwiren. X stz e’
10 % 3% St Dt T 336

Options:

20 minutes
1 % 20 Dadwaren
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33.2 minutes
5 » 33.2 dawdrew

15 minutes

5 » 15 dawdren

25.2 minutes

4 % 252 DawIren

Question Number : 152 Question Id : 544734632 Display Question Number : Yes Is Question
Mandatory : No

Which statements among the following are correct?
(i) Freundlich isotherm fails at high pressure of the gas.
(1) AH < 0 for both physical and chemical adsorption.
(i11) Physical adsorption is non-selective.
(iv)

iv) Chemical adsorption s reversible. where as physical adsorption is irreversible.

06 TS O HAFED HFHD?
() ©BS DETL 36 Fowol DA VATLET VIR DI6H B
(i) TAE B0k 6IoHAS BT AH < 0
(iii) FES LT & DIQS Sk
(iv) OFoDHIE BATHRNAN ESIDA T FAE LOTHRI T°W®

Options :
. (1). (11). (111) & (1v)
(1). (11) & (111) only

S o (@, (i) & (iii) S8
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(1). (111} & (iv) only
(1). (1) & (1v) Sorehad

(11) & (1v) only
4 % (11) & (1v) sorgddo

Question Number : 153 Question Id : 544734633 Display Question Number : Yes Is Question
Mandatory : No

XNenon best reacts with

RS S e 50§ Fotodoob.

Options :
Neutral atoms
e‘_’eea"g DTDT LN

Most electronegative elements
@@5¢35 22062 E}c;’néz::“e:&é;ej (2 DoPUsTe

Most electropositive elements
OBHBS G b@gm@égé e SurosTen

Transition elements
. D020 Dorwsten

Question Number : 154 Question Id : 544734634 Display Question Number : Yes Is Question
Mandatory : No
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The correct order of acidic character of the following 1s;
Sodd héﬁé@mu €330 R(ETPHAVL DD 200

Options :

| % H,O0 = H,S > H.S5e > H,Te

2 % H-ESE ) HES e Hzo = HETE?

3 HETE = HESE == HES > Hzg

4 » HoTe > HS > HySe > H,0

Question Number : 155 Question Id : 544734635 Display Question Number : Yes Is Question

Mandatory : No

In the following reactions (i) and (ii). the number of moles of chlorine gas released
respectively are

808 w3 (1) Sodak (i) ::565066 , DL wad §85 o) arde o

(i) Mn0,+4HCl —
(i) KMnO,+ 16 HCl ——

Options :
1 % 1 &4

,ol&S5

3% 2&5

4% 28&4
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Question Number : 156 Question Id : 544734636 Display Question Number : Yes Is Question

Mandatory : No

A purple colored compound of Manganese (X) decomposes on heating to liberate oxygen and
forms compounds of Manganese (Y and Z) compound Z reacts with KOH 1n presence of

potassium nitrate to give compound Y. Compounds X. Y and Z respectively are

& Gord) (10 ATofdD P30 ¥ X 3¢, BODIT AP0 Bold 9512 A B
208080 Both) BAY oD ) ¥ (Y 08030 Z) 0a ey Z R0 #R40
Teraabo O Hg08" KOH & 156) Tob ddugdan Y & w0, X. Y abain Z
*’:o;in&%;ﬁnw S

Options :

1 5 X_HMHO4 Y_ano? Z_Mn02

> % X_HEMHU4 Y—KM‘HO4 Z_Mﬂ.zﬂ?

. » X—KMnO, Y—K,Mn0, Z—Mno0,

, » X—KMnO, Y—Mn0, Z—MnO

Question Number : 157 Question Id : 544734637 Display Question Number : Yes Is Question

Mandatory : No
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Match the following?

property metal
(a) Element with highest second ionization enthalpy (4;H,) (1) Co
(b) Element with highest third ionization enthalpy (A;H;) (1) Cr
(c) Min[M(CO)4] (ii1) Cu
(d) Element with highest heat of atomization (A,H) (iv) Zn
(v) Ni
208 TR BSBOLA0?
60 &aram
(a) Bxdab woAS6n Jotrdy SIBSANT (0 i) Co
Saressw (4:H,)
(b) dyBab eoHEsn Joady OS(ESANT o (i) Cr
Saresan (4;:H;)
(c) M& [M(CO)] (iii) Cu
(d) vaBs DOATHE0n e o Jresan (4,H) (iv) Zn
(v) Ni

Options :
1 % (a—iii), (b —1),(c = v),(d — iv)

> (a = iii), (b — iv),(c —ii),(d = v)
5 % (@=1iv),(b—1), (e~ ii), (d - iii)

4 % (@=v),(b—iv),(c—i),(d - iii)
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Question Number : 158 Question Id : 544734638 Display Question Number : Yes Is Question
Mandatory : No

The human body does not produce

2H5 36620 e DO A &S woDT D

Options :

Enzymes
o0

1. %
, « DNA

Vitamins

L, Do
Hormones
ﬁ&‘ém&u

4.

Question Number : 159 Question Id : 544734639 Display Question Number : Yes Is Question
Mandatory : No

Identify the best suitable reagent for the following reaction.

Sob VO] BEYLD SHVID T°6So &7

Cl cl cl
SOH

SO.H

Options :
1.4
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Concentrated Sulphuric acid

e “n}w;)é&é €330

Dilute Sulphuric acid (10 %)
B0 ‘.’-’awbéaé €200

Concentrated Sulphuric acid & Concentrated Nitric acid
et ;}wﬁéag e300 DOCIL MTE AGS o

Concentrated Acetic acid (fuming)
TG DS 5o

Question Number : 160 Question Id : 544734640 Display Question Number : Yes Is Question
Mandatory : No

The major product of the following reaction sequence 1s

& 308 t‘:}déﬁ.}@ﬁ S}dDm DT G A

OCHs 4y cH,COCI, AICI (anhyd.)
1i) Zn-Hg /conc. HCI 9
iii) HI ‘
Options:
OH
CH,

1.¢
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OCH,
|
2. % ol
OH
I I
CH,4
3. %
I
CH;
4. %
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